20245 HWIREDSIKERERRERER (1R SRMEZHEE)

ERFE _ .
e BE ERR 2E itmE | BRE | EFE | SRE | MERE | LWER | &BEE | TRE | HAR | #BE | BER | TER | ZRH |[#FNIE
(1)BHRERTEEL 123 4 0 1 2 1 1 2 2 2 0 4 5 7 6
(2)FRHBREHEE 54 2 0 0 1 1 1 0 0 1 0 3 3 2 2
FR - EREEER
(3)EHERBRAIREY 37 3 0 1 0 0 0 0 0 1 0 2 1 2 2
(4)REIRTE SR E 33 2 0 0 0 0 0 0 0 1 0 2 1 1 2
(5)BHRERTEEL 4 0 0 0 0 0 0 0 0 0 0 0 0 1 0
FRIERBRDAHZAR
(6)FRIRBRAIREL 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(7)BARERTEEL 107 1 0 0 0 1 3 0 4 1 1 4 1 2 3
ERGREBRDAHZAR
(8)E=HERBRAIREL 22 0 0 0 0 0 2 0 1 0 0 0 0 1 0
0)ZHREFHEL 1 0 0 0 0 0 0 0 0 0 0 0 1 0 0
EaTTOT S Lot itk
(ZRIEBRDHZIR) .
(10)EARTE AR E L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
11)SHREBEL 404 11 4 1 8 2 8 5 7 4 4 7 6 6 15
S i
(ERERDHFIR)
(12)BEARTE AR E L 175 8 2 0 4 1 3 3 2 1 3 1 0 3 7
%R (13)ZARFFFEH(LERTEESEEE) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= St
sy | CHEREEER 639 16 4 2 10 4 12 7 13 7 5 15 13 16 24
(1)+(5)+(7)+(9)+(11)+(13)
AT = e
(15)FHZRHEHL 128 4 0 1 2 1 1 2 2 2 0 4 6 8 6
(1)+(5)+(9)
preFvpTe
gy |LOFHEHEER 54 2 0 0 1 1 1 0 0 1 0 3 3 2 2
(2)+(6)+(10)
(17)(*127(':%5% 42.2%| 50.0% —| 0.0%| 50.0%|100.0%| 100.0%| 0.0%| 0.0%| 50.0% —| 75.0%| 50.0%| 25.0%| 33.3%
=, =2
(18)RERRFREL 634 16 4 2 10 4 12 7 13 7 5 15 12 15 24
(1)+(7)+(11)
s |(ORBERER 234 11 2 1 4 1 5 3 3 2 3 3 1 6 9
(3)+(8)+(12)
(zo)i}ﬁé%:—?—( 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0,
(19y/(18) 36.9%| 68.8%| 50.0%| 50.0%| 40.0%| 25.0%| 41.7%| 42.9%| 23.1%| 28.6%| 60.0%| 20.0%| 8.3%| 40.0%| 37.5%
1 =N 4
st |(GEERESEER 208 10 2 0 4 1 3 3 2 2 3 3 1 4 9
(4)+(10)+(12)+(13)
RERESTEE
BIRE (%) (Zz)gfi;jfi) & 32.6%| 62.5%| 50.0%| 0.0%| 40.0%| 25.0%| 25.0%| 42.9%| 15.4%| 28.6%| 60.0%| 20.0%| 7.7%| 25.0%| 37.5%
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20245 HWIREDSIKERERRERER (1R SRMEZHEE)

ERFE _ .

2431 - WER 2E | 98 | BUL | BB | EHE | LIRS | BFE | KRR | HEL | BA8 | 58 | gER | ST | ARG | SER | SR8 |3
(1)BHRERTEEL 123 7 3 0 3 1 3 3 9 11 3 0 0 3 10 1 0
(Q)FRBRaRE 54 2 1 0 1 0 1 2 4 5 0 0 0 3 6 0 0

FR - EREEER
(3)EHERBRAIREY 37 2 0 0 0 0 0 2 3 3 0 0 0 2 3 0 0
(AR EAIREL 33 2 0 0 0 0 0 2 3 3 0 0 0 2 3 0 0
(5)BHRERTEEL 4 0 0 0 0 0 0 0 1 0 0 0 0 0 1 0 0
FRIERBRDAHZAR
(6)FRIRBRAIREL 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(7)BARERTEEL 107 6 1 2 0 1 1 8 3 17 4 4 1 7 4 0 1
ERGREBRDAHZAR
(8)EALHEREHIEE 22 1 0 2 0 1 0 0 1 3 0 2 1 1 2 0 0
0)ZHREFHEL 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EaTTOT S Lot itk
(FRRBOHZR) —
(10)EARTE AR E L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
11)SHREBEL 404 12 10 1 3 1 8 14 33 73 16 4 10 12 39 4 0
S i
(ERABROHSR) o
(12)BEARTE AR E L 175 7 6 1 2 1 2 8 13 39 8 1 2 5 19 0 0
mARR (13)BIRERAE L (RERTEAIREL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= St
sy | CHEREEER 639 25 14 3 6 3 12 25 46| 101 23 8 11 22 54 5 1
(1)+(5)+(7)+(9)+(11)+(13)
AT = e
(15)FHZRHEHL 128 7 3 0 3 1 3 3 10 11 3 0 0 3 11 1 0
(1)+(5)+(9)
preFvpTe
gy |LOFHEHEER 54 2 1 0 1 0 1 2 4 5 0 0 0 3 6 0 0
(2)+(6)+(10)
17)2RA1RE
( )Zg/(i)z 42.2%| 28.6%| 33.3% —| 33.3%| 0.0%| 33.3%| 66.7%| 40.0%| 45.5%| 0.0% - - 100.0%| 54.5%| 0.0% -
=, =2
(18)RERRFREL 634 25 14 3 6 3 12 25 45 101 23 8 11 22 53 5 1
(1)+(7)+(11)
1 =
=57 (L)REENEHE 234 10 6 3 2 2 2 10 17 45 8 3 3 8 24 0 0
(3)+(8)+(12)
(Zo)i}ﬁé@:—?—‘ 0, 0, 0, 0, () {+) 0, 0, 0, 0, 0, (V) 0, 0, 0, 0, 0,
(19y/(18) 36.9%| 40.0%| 42.9%|100.0%| 33.3%| 66.7%| 16.7%| 40.0%| 37.8%| 44.6%| 34.8%| 37.5%| 27.3%| 36.4%| 45.3%| 0.0%| 0.0%
21) IR T RS
st |(GEERESEER 208 9 6 1 2 1 2 10 16 42 8 1 2 7 22 0 0
(4)+(10)+(12)+(13)
22) B SRR
otz (%) | )(}fiﬁi)% 32.6%| 36.0%| 42.9%| 33.3%| 33.3%| 33.3%| 16.7%| 40.0%| 34.8%| 41.6%| 34.8%| 12.5%| 18.2%| 31.8%| 40.7%| 0.0%| 0.0%

2/3~=



20245 HWIREDSIKERERRERER (1R SRMEZHEE)

3/3~=v

ERE _ _ . - .
e BE ERR 2E ERE | BRE | MUE | ZBE | WOR | #BR | JIE | BEe | S8 | EHE | #HE | REBE | AR | ADE | ZRE BRREBE| e
(1)BHRERTEEL 123 0 1 2 6 5 1 0 0 0 4 1 1 3 3 1 0 1
(2)FRHBREHEE 54 0 1 2 2 2 1 0 0 0 2 0 0 2 0 1 0 0
FR - EREEER
(3)EHERBRAIREY 37 0 1 1 2 0 0 0 0 0 2 0 0 2 1 1 0 0
(AR EAIREL 33 0 1 1 2 0 0 0 0 0 2 0 0 2 0 1 0 0
(5)BHRERTEEL 4 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0
FRIERBRDAHZAR
(6)FRIRBRAIREL 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(7)BARERTEEL 107 1 0 3 13 3 1 0 0 0 2 1 0 0 0 1 1 0
ERGREBRDAHZAR
(8)E=HERBRAIREL 22 0 0 1 2 0 0 0 0 0 0 0 0 0 0 1 0 0
0)ZHREFHEL 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EaTTOT S Lot itk
(FRRBROHSR) -
(10)EARTE AR E L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
11)SHREBEL 404 0 0 13 14 6 1 3 7 1 11 3 4 3 5 3 1 1
S i
(ERABROHSR) o
(12)BEARTE AR E L 175 0 0 2 5 4 0 0 1 0 2 1 2 1 3 1 1 0
e (13)BIRERAE L (RERTEAIREL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= St
sy | CHEREEER 639 1 1 18 33 14 3 3 7 1 17 5 6 6 8 5 2 2
(1)+(5)+(7)+(9)+(11)+(13)
AT S e
(15)FHZRHEHL 128 0 1 2 6 5 1 0 0 0 4 1 2 3 3 1 0 1
(1)+(5)+(9)
preFvpTe
gy |LOFHEHEER 54 0 1 2 2 2 1 0 0 0 2 0 0 2 0 1 0 0
(2)+(6)+(10)
17)2RA1RE
( )Zg/(if 42.2% —| 100.0%| 100.0%| 33.3%| 40.0%| 100.0% - - —| 50.0%| 0.0%| 0.0%| 66.7%| 0.0%]| 100.0% - o0.0%
=, =2
(18)RERRFREL 634 1 1 18 33 14 3 3 7 1 17 5 5 6 8 5 2 2
(1)+(7)+(11)
1 =
=57 (L)REENEHE 234 0 1 4 9 4 0 0 1 0 4 1 2 3 4 3 1 0
(3)+(8)+(12)
(Zo)i}ﬁéﬁz 0, 0, 0, 0y () (+) 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0,
(19y/(18) 36.9%| 0.0%| 100.0%| 22.2%| 27.3%| 28.6%| 0.0%| 0.0%| 14.3%| 0.0%| 23.5%| 20.0%| 40.0%| 50.0%| 50.0%| 60.0%| 50.0%| 0.0%
21) IR T RS
st |(GEERESEER 208 0 1 3 7 4 0 0 1 0 4 1 2 3 3 2 1 0
(4)+(10)+(12)+(13)
22) R e
otz (%) | )gzijjfi)*g 32.6%| 0.0%| 100.0%| 16.7%| 21.2%| 28.6%| 0.0%| 0.0%| 14.3%| 0.0%| 23.5%| 20.0%| 33.3%| 50.0%| 37.5%| 40.0%| 50.0%| 0.0%




